Machine voet P-034 135 x 110 x 68 S6 - 50 Shore A 3

https://www.nexaparts.nl/machine-voet-p-034-135-x-110-x-68-s6-50-shore-a-3

Specificaties

Productnummer

EAN

Merk
Categorie
afmeting
Materiaal
Kleur

Style

model
Diepte/lengte
Breedte
Hoogte

Kleur

Kleur

Model
Schroefdraad
Afmeting
Materiaal
Hardheid

7420345650

7442957612616

NexaParts

Machinevoeten

M16x1,5 135 x 110 x 68
Metaal verzinkt /INR

Zwart

M16x1,5 135 x 110 x 68 - 50 Shore A
Machine voet P serie

13.50
11.00
6.80

Zwart

Grijs

Machine voet P serie

M16x1,5

M16x1,5 135 x 110 x 68
Metaal verzinkt /INR
50 shore A

NexaParts B.V.
Duurzaamheidstraat 33
8094SC, Hattemerbroek

E-MAIL info@nexaparts.nl
TEL +31 38 2024038
KVK 87151227


https://www.nexaparts.nl/machine-voet-p-034-135-x-110-x-68-s6-50-shore-a-3

